(58 5 b 22 B A DU 50 55 B N HL f 8 = itim (L)

TROAE
B 57 ZF AR AR K BR B HE PO

%+ = BEBALE SR I KA

#AAH . (REAER 129 4)

L BAWMERL A=C MAH=N-h- v

CNh_ 3x10°x6.02x10%*x6.6x10""

R 2.436 X 10°
=4.91x107"m
2. WERENE  EREA > ToRRAE  BRENE  BER/D TEBESR
5F o
hC 6.6x107* x3x10°
3. E=hv= =

F 4.91 x1077
= 4.03 x 107 Joule
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4. BTEE(9) =

_6.5x1077x 6.02%x10%
B 0.2 X2.5
6.6 x107% x 3 x10°
2.536 x 107

=6.1 x10*
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A& EH A % 137#H FTERBEA+FA
Cl,+ hy — 2 Cl -
Ci-+H, -HCIl +H-

He+Cl; > HCl1 +Cl-
2Ho —‘-—)Hz
2Cl- —Cl:

H. +Cl- — HCI

—~ 1. AHlwe = 35,040
A S%00 = 32.11 Jmol K™
A Gl = A H— TAS® = 35,040 — 1000 x 32.11 = 2,930 ]
AG® =—RT InKp
R = 8.314 Jmol™'K™*

AG° 2930
RT  8.314 x 1000

~.Kp =0.7030
3. REVISHEFEONE  BURERIRE BmER e K. =K, =K. » H#%ER
FEtEEES RAIHESRER 0.7030 °
4 BARERA SROAR - ERER
x% = 0.45 » x% = 0.35 * X = 0.20 > X0, = 0.00
s 3 s BT AR A R AL E S R R x

InKp =— =—0.352418

gl CO.:x CO: x&—X
H,0 : x50 — X H: : x93, +X
K, =K. = Xoo * Xmo _ (x¢o —ox)(x%zo -x) — 0.703
Xoog * Xy x(x3, +%X )
(x% — x) (X% — x) =K (x5 +x)x K=Kx
EBERAR

ﬁ(l—0jmn—x(020+0A5+0J03x035y+&45xOJOzo
%%X:OJM(%~ﬁ%%x>1’ﬁ%%%%)
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o Xeo = 0.346
Xeop = 0.104
Xmgo = 0.096
X, = 0.454
A Ch = CPoo + Chugo — Choos — Chug
=—11.28 + 1.52 x 10~° T J mol—'K-*
A H3s00 = A Hiooo +J1:1:°A C2 dT = A Hwo + X;Z:" (Ci+CaT)dT
= A HPwo+ C: (1400 — 1000) + 0.5C. (1.96x10°—1 x 10°)
= 31257.6
A HSwo = 31258
B LTk ( Van’t Hoff ) HEH 2R
0 InKp AH
aT RT?®
RE#FEAH® BIEME - MEASK > FPHA4LKCOMH0ON G ABE o

TSRS K 2B RGBS TR S o LR TRERER
W R G LY o VRN % 5 NH o T 35 ON ~ 30 S 205%™ AT AN TEIRES
WAL - REE RS HARTE o
R 1 ~ 4 RIE » W HEER 3% L B S AL TS B PR T 1 G0 o I ELAE & 1K SO,
1~ ;B8 SO0, RIEAREEHMER  EBR NS RBREEAATEEGAS -
o EBMEBRFRPULARIE » 1™ BHEMR 15 RIS » MAHSO, &
Na:S:0: e RER [~ o AABEREHIE » ZHBTER

NalO; M= 197.90 g / mol
5 NalO, M= 213.90 g / mol
2107+ 6H 0+ 7SS0, = 7HSO7 + 5H*+ I,
2105+ 4H.0+5S0;, = 5HSO7 + 3H*+ 1,
I.+S80;+2H,0=HSO7 + 3H*+ 21~
71I7+1074+8HY =41.+ 4H,0

51"+ 105+ 6H"=31:+ 3H,0

I:+ 85,02 = 217+ S406~
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HEEFTAN $£1378H FEREA+FA
4. BB ER
B R B A AR 4 0.1 M x 0.0374 L = 3.74 x 107" mol
BB EWR NalOs
103+ 51~ + 6H* == 31.+ 3H.0
1.+ S:0:2" = 217 + S,06~
1 mol NalO; fEN 6 mol S04~

0.1g . B s
T97.9g / mol x 6= 0.000505mol X 6 =23.03 x 107 *mol
£3.74 % 107* mol  MULERARKIL
HEAEWMRBNalO,

10, + 71"+ 8H* =41:+ 4H.0
I, + S0 =217+ S406*”
1mol NalO, #E# 8mol S;0s%"

0.1¢g B —a
513.9g/ mol = 4.67 x 167 *mol
4.67 x 107%mol x § = 3.74 X 10~ *mol S:0,%"
W EALE S NalO,

/g~ 1. ARRSEES ¢ CH; —CH = C(CH;)COOH
BE’\J%%?C . CHs*“CHz—CH(CHs)COOH

2. A’ fREER : CH, /CHa
oo
/
H COOH
A’ (YT BERE R 1 CH. COOH
AN /
/c = c\
H CH,
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EFF BT » IRIEINIE » AT INECRT A 4 o 7EINBUAT B 90 R B TR (B %S
HAREBRET » HHER 4@ (822 = D UBEBY LA T RHERE o
fE cis A" TI1R

COOH COOH
CH. Br Br +—CH:
)54
H Br Br—H
CH; CH3
(1) ®@
CH CH
: CHs : ? /CHB
Br — Br Br — ~—— Br
i’ O\
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HEHXRFTAH F137H FEREA+F=A
HOOC CH;

CH; COOH
S

Br Br Br Br
CH, H H CHs

(DER(2) » 3)ER(4) BB HB
(DER(3) ~ (4)
}%3?%@%%%%
(2)52(3) ~ (4)
A~ 1 Si-Si EREMARTE » e E BB K BT A o
2. H—BesREHENLAY—E » Si-HEFREKPOSHETRIEMERSR
3. (CHs),Si H_.
ROoFE : 2Si =2 % 28.086
(6-x)H=(6-x ) x1.008
x CHs =15.035 X x
LA FE=56.172+1.008 ( 6—x )+ 15.035x =62.22 + 14.027x

20
62.22+ 14.027%

AENEHE=20mg =
AT B SR

n=— mmol H,, n= 0.974%27.8 mmol

RT 0.08314 X 294

20 . 0.974 x 27.8

(6—x+1) x -
62.22+ 14.027x 0.08314 x 294

KRB x = 1.9999
MR x =2

4. =Si-H+H.0

= S5i -OH+ H.

= Si-Si =+ 2 H,0—0

RS R H B RER

ZESi'OH+H2
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Si Hs(CH;3): + 6 H:0— 2Si (OH):CH:; + 5H:/n
2n Si(0OH)sCH:; — ([ Si:0s (CH3:)2J), + 3n H:O

nSiHy (CH3)2 + 3n H.O — ([ Si.0s (CHs)2). + 5n He
P -
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| I | |
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HAEEFAN F137H PLEREA+HF=A
5. HHARIE :

—CHO CH = CH— COOH
@ + ( CH3CO),0 — @ H=CH—COOH | .4 coon
6. HAR_EBHEEESFRXRE:

— CH,C1 - C.H;ON
@ 2~ L CH, (COOC,Hs), —— 2

— CH.C
@ H.CH (COOC:Hs; ).  NaCl

NaOH , HCI

O CGHS
I HO_ CeHs .
) l:[ )+ CoHsMgBr :@6 =
~H,0
CHO 0
H
@3) + @ + C,HsONa* — @jb =c_
CGHS
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A  EMREAE 2 E

—CHO+ 2 [ Cu{C4H404):)2 +50H" = —COOH + Cu,0 | + 3H.0
+ 4 CiH,04%"

% i 2 R

—CHO+ 2 (Ag (NH;3);)*+ 20H" — — COOH + 2Ag| + 4NH, +H.0

B SR

CH,OH CHO NH—NH: ¢ =N— NH@
é:o =% H—(IJ—OH+3@ = C N— NH—@
R R

BaxE (Y] B

+ @_NHZ + NHq + 2H,0

CEERE ( Seliwanoff RJIE )
fERMER D INe  CHEEESS - KPAEE  BRAN_BERS RE
 ERALEWE o

(‘IHzOH | OH

C=0
HO—C—H —3H.0
|

HOHzc—@ CHO MEwmE
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|
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AEEFAN F137#8 PEREA+F-A

2.

A~ T

HK i R

A EE 60 ~63°C

MIERE B BUHBREAKE o

VR R RERK BB 5 BHBRENER » HHER 2MESANER ©
EHEERE AW Ca’t RIE » EREAWR -

2R—CO0~ + Ca?* — ( R—C00):Ca

HI AT RAYE ~ W ARVE Folp M v R BES AL RSBV IR > M B E R AR > Bis
4538 78 W] 0 RYEK AR R o

wRAEANERER B K
Ca+2H:0— Ca(OH):. +H;

Ca + 2H;0* — Ca’* + H, + 2H-0
Fe + 2H:;0* — Fe?*+H:. + 2H.0

Al + 3H:0* — Al®* —|——32—H2 + 3H:0

3
Al +~ NaOH+ 3H,0 — Nat+ + A1(OH )3 +§H2

Zn + 2H,;0* — Zn?** +H: + 2H:0
Zn + 2NaOH + 2H,0 — 2Na* + Zn (OH) i~ + H,
Mg + 2H.0 — Mg (OH): + H:
Mg + 2H.0* —Mg?* +H: + 2H:0
Sn + 2H;0* — Sn?** +H., + 2H,0
Sn + 2NaOH + 2H,0 — 2Na* +Sn(OH)i~ +H.
Ca : TEREPE R P hn BELRR SR A B B BB TR o
Fe: (1) (fASEKELE » MABBENFER - LR EGEE SR
(2 MEREEEER FeSCN** ALERIR ©
@) MMEEANER BRI -
@) IEEIF S o EREGCBBEELR
Al: TR B wPnZE®E (A2,5,7,2' ,4-pentahydroxyl flavone)
v 2GS OLEEER ) -
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BT AR DRAR LR LRG0
Zn: TEBRMRAS W P SBORALE, o B G EEIE Y 5 B0 R 9 VO AL B
B ERBBR2ALE-
Mg: FE ML B I A TR RO Z R TEBEGER o
Sn: 1E35 WP AL S o ERIERREIR o B P LLHCL 8Ly Sn+
W WA TR KB BB A LI LUK A B I B AR AT
HEEOE (LHAR) -

i~y 1. RIEFRER
(1) S20:°"+ 2e” = 28504

( Fe?+ =Fe®* 4L e~ )x2
82032—+2F€2+\ﬁ28042_+2F33+
(20 ( Fe®* = Fe®+ + e~ ) X5

MnO,~+ 8H*+5e™ =Mn?*+ 4H.0
5Fe?* +MnO,~ + 8H* = 5Fe®* +Mn?* + 4H.,0
2. MV, mL KMnO, kFe(ll) BROBE

Vix0.02x%x5
25

M ( KMnO, % 0.02mol /L/25.00mL

(Fe’*) =

Fe?* )
3. LU#¥EER A KMnO, ( 0.02mol /L) A9BSR V. mL KB FHEEFIEEE o

(Vi—V,;)x0.02x5 « 270.33
1000 2

=emg KzSzOs

25 x (Fe®* ] -V, x0.02 x5 ><270.33 _

soa K S O
1000 2 ME Baoalls

(Vi=V:) x0.02x5 40
1000 2

TSoreenes K:S:0s mol/L

25 x (Fe?*)] -V, x0.02x%x5 ><4_0
1000 2

( é} """ {KE%E,‘J Vi EVe ﬂ%ﬁ%ﬁ'ﬁg )

R K.S,0s mol /L






